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ANSWERS

EXERCISE 3F I

(z+1)(z+2)

b (z+2)(x+3)

¢ (
d (z—2)(z+5) e (z—3)(z+7) f (z+4)2
g (z—17)2 h (z—4)(z+7) i (
i (z+4)(z+11) k (z+7)(z—-8) | (z—9)?
m (z+4)(x—38) n (z—5)(z+9)
o (z+8)(z—12) p (z—8)(z+12)
2 a 2z+1)(z+4) b 3(z—1)(z—6)
¢ 2(z+3)(z+4) d 5(z+2)(z—8)
e 4(z+ 1)(z —3) f 3(z—3)(z—11)
g 2(z+9)(z — 10) h 3(z+2)(xz—4)
i 2(x+4)(xz+5) j z(z+1)(z—38)
k 4(z — 3)2 I 3(x —3)(z+9)
m 2(z — 10)(z — 12) n z(z+4)(xz—17)
o z%(z+1)2
3 a —(z—6)(z+9) b —(z+2)(x+5)
¢ —(z+3)(z+7) d —(z—1)(z—3)
e —(z—2)2 f —(z—1)(z+3)
4 a —(x+6)(x—8) b —(z —3)2
¢ —3(x—-3)(z—T) d —2(xz+7)(z—9)
e —2(z—5)2 f —z(z+1)(z —2)
5 As b=m+n, —-b=-m-—n

Since ¢ = mn,

22 —br+c=uz
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= (@ -m)(@—n)

EXERCISE 3G s
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i 322+ 7z+2

=322 +6z+a+2

=3z(z+2)+1(z+2)

— (¢ +2)3z +1)

Yes, as ab = ba.
(22 + 3)(z + 1)
(Tx 4+ 2)(x + 1)
Bz +2)(x+2)
(4 + 1)(22 + 3)
Bz+1)(2z+1)
(5z + 1)(2z + 3)

i (20 +3)(2z —1)

(2z 4+ 1)(x — 5)
Bz +1)(z —2)
(2z+5)(z—1)
11z +2)(z — 1)
Bz — 2)(xz — 5)
3z —2)(z +4)
(2z — 3)(z + 6)
(21z + 1)(z — 3)
Bz +7)(z—2)

¢ —(4z — 3)(z + 3)
e —(4x +1)(2z + 3)

(3z +5)% — (2¢ — 3)?
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3z + Tz +2

=322 + &+ 6z + 2
=z(Bz+1)+2Bx+1)

=Bz +1)(z+2)

2z 4+ 9)(z +2)
Bz +1)(z+4)
Bz +7)(x+3)
(Tx +1)(3z + 2)
(6z + 1)(xz + 3)
(7z +1)(2z + 5)

i 2z—-1)2z+3) b

Bz —1)(z+2)
2z —1)(z+2)
(5z — 3)(z — 1)
2z + 3)(z — 3)
(5z + 2)(z — 3)
(22 —1)(z+9)
(5z +2)(3z — 1)

—(5z — 1)(z — 2)
—(3z — 2)2
—(6z + 1)(2z — 3)

=922 + 30z + 25 — [42? — 122 4 9]
=922 430z +25 — 4a% + 122 — 9

= bz? + 42z + 16
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z —3)(z —8)
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(5z + 2)(x + 8)

{ac =80, b=42, splitis + 40z + 2z}
(3z +5)% — (2z — 3)?

=Bz +5+22—3)(3x+5—2z+3)

= (5z + 2)(x + 8)

EXERCISE 3H I
z(3x + 2) b (z+9)(z—9)
2(p® +4) d 3(b+5)(b—5)
2(z+4)(z —4) f n2(n+2)(n—2)
(z —9)(z+1) h (d+7)(d—1)
(z+9)(z —1) ioat(1+2t)
(2z +1)(2z + 5) I 2(g+5)(g—11)
(2a + 3d)(2a — 3d) n 5(a+1)(a—2)
2(c—1)(c—3) p (z+7)(2z+3)
d*>(d+3)(d—1) roa(x+2)2
7(z — 5y) b 2(g+2)(9—2)
—5z(x + 2) d m(m + 3p)
(a+3)(a+5) f (m—3)?
S5z(z+y — xy) h (z+2)(y+2)
(y+5)(y—9) i (x+5)(2z+1)
3y+Ny—1) I (6z +1)(z —5)
(2¢+1)(2¢—1) n 3(z+4)(z —3)
2(z —3)(b+5) p (4z+3)(3z+1)
—2(x — 1)(z — 3) r (4o +1)2
—2z(x — 1) t (a+b+3)(a+b—23)
2(z — 3)(6z — 1)

REVIEW SET 3A I
1 Show that the total area equals the sum of the two smaller areas.
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z? —z —30 b 622 +13z—5 ¢ 18z — a2
z(7z — 4) b z(z—1)(z+6) ¢ (z—8)(z+5)
23 4422 — Tz — 10 b 223 + 522 — 8z —6
(4+3m)(4—3m) b z(z+9)(z—9)
(z+12)(z +2)

2 — 49 b 4y2 —25 ¢ 4m? — 20mn + 25n2
2(z + 5)2 b (b+d)(2—c)

8k3 + 36k + 54k + 27 b 73 — 1212t + 48rt% — 6413
(z—2)(z+9) b 3(z+2)(z—5) ¢ —2(z+4)(z—38)
(4z + 3)(2z + 1) b (5z —3)(z —2)

—(3z +1)(3z — 2)

3(z+2)(z +12)
2z4+94+2—-3)2z+9—2+3)=3(x+2)(z+12)

i a2+ 2ab + b2 i a3+ 3a2b+ 3ab?® + b3
iii a* + 4a3b + 6a2b? + 4ab> + bt
iv a® + 5a*b + 10a3b? + 10a2b® + 5ab* + b°

i8 i 16 iii 32 c 2™
From 12 a, we see that if a = b = 1 in these four
expansions, we obtain results of 4 = 22, 8 =23, 16 = 24,
and 32 = 2°.
Letting a=b=1 in (a+b)™ weget (1+4+1)" =2".

REVIEW SET 3B I

1 a
2 a

b 12z — 422
b 3b2

20z — 25 ¢ 322 — 5z +12

x3 + 2z — 20



